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N.B.: (1) Question No. 1 is compulsory,
(2) Solve any three questions from the remaining questions.

(a) A resistor of 50 is connected in series with a parallel combinationof %, 3~
a number of resistors each of 5Q. If the total resistance of the '
combination is 62 find the no. of resistors connected in parallel.

(b) Use mesh analysis to find current through 10Q in the ckt. shown S
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(c) An alternating voltage is representéd by ?? = 141.4 sin 377 t 3
find (i) max-value (ii) frequency (iii) fime period

(d) What is the necessary condition for resonance in series circuit. Derive 3

expression for resonange frequency.
(e) What is the relationship betwéer line and phase values in star and delta - 2
connected load.

(f) Draw and expldin the'phasor diagram of 1-¢ transformer on No load. 4
(2) Define rectifierandistate diff. types of it. 2
(a) Find mode vnlt.'a:ée:s. 6
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2 QP Code : 28587

{b} In be {:ﬂ-ﬂu-‘t “h’e’”n ﬁnd L § Lk Iql'l ol L Tk P j,l.8
(i) the current I (ii) V, and V, (iii) Pf. Draw th-.: phasor diagram.
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(c) A 150 KVA transformer has iron loss of 1.4 kW ﬁnd"full-lﬂaﬂ"'cnpper 6
loss of 1.6 kW. Det. (i) the KVA load at maximum efficiency (i) max.
efficiency at 0.8 lagging Pf and (iii) cfﬁmﬁncy at half load and 0.8
lagging Pf. !

%
3. (a) A balanced three-phase load connectediin delta, draws a power of 10kW 8
at 440 V at a Pf of 0.6 lead, find the vaIan of circuit elements and
reactive volt-ampers drawn.

(b) The wattmeter reads iron lesses in'©C fest and reads coppe:r losses in 6
SC test of a transformer.Justify.
(c) What is meant by filter, 2
(d) Draw and explain O/P characteristic of transistor in CE configuration. 4
4. (a) Using sourcefransformition tech. calculate voltage across 4€2 7
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«. «s:{b)s Find.the average and rms value of the waveform. .o puecs e . 5
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(c) The power in a 3-¢ ckt is measured by two wattmetersyIf the total power 4
is 50kW and Pf is 0.6 lagging, find the reading of‘each wattmeter.
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(d) Exmiain the working of centre tapped full waverectifier. - 4
5. (a) Find current through 30Q using theveninis thearem 8
1B gon 20 2

) L __ 5oV
(b) For the shown ckt, find supply current, current in each branch and total "4
Pf.
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£} A 1000/200 V, 50Hz, 1-phase transformer gavethe following test 8

results
OC test (hv side) : 1000V 0.24 A 00 W
SC test (hv side) : S50V 5A 110W
Draw equivalent ckt of transformer reffered to primary and secondary
side. '
(a) Using superposition theorem, find the voltage across 4K ()7
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(b) A series R-L-C circuit consistsiof R = 1060 Q, L = 100 mH and C T
= 10uF. The applied voltagesaeross the circuit is 100 V.
(i) Find the resonance freq ot the ckt.
(ii) Find Q of thewekt at resoniant freq.
(iii) At what angular freq. do the half power points occur.
(iv) Calculate the'bandwidth of the ckt.
(c) Show that the total power and Pf. in a 3-¢ balanced system can be 6
determined uSing {wo waitmeter method.
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Q1 (c) Read as V .mstead of H??”
Q 2 (a) Read as “HQdﬂﬂ Ev.insluad of “‘mode”
G b 3
Q2 () Readag= DEIEIMINEG”  insteador “Det.”

Q4{a}I.R:ﬁQ#"‘i1§:- “technique”  insteadof “tech.”

Y 1 T i "
Q4 ié'jJin diagram voltage source is 6 V' insteadof "0 A
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